Op>umO

Ratio to CDF

10?

10

1071

1072

1n-3

0.5

1800 GeV ppbar

Underlying Event
L I B B

E| IR L L B B E B B =
- Z(pT) Vs AQ (ple > 30.0 GeV) .
= .
—4m E
i 7]
- ]
B '\v‘ o’ _
=— e
= ‘\\“l y ! ,1‘ yiv’ey‘%b =
- “ ;,“{M : .
- ’ Ly '\‘ !ip r" _]
- \"i ‘? mﬁi YV\‘ V' i |
- = » -
A Pythl 8.308 |default _
| —&— Pythia 8.308[default-noFsr )
E —a— Pythia 8.308 default-noRap E
B CDF_2001_|S4751469 |
. P I R R | [ I I N 1 | i T I | P I e
L L L I
— L [ ] -
L1 L0 A

0 100 150

A/ degrees

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


